Surds worksheet:

1)

Complete these addition squares. Simplify your answers.

. 3V5 | -245
V20

.m\m
7

a5 B

Complete these addition squares. Simplify your answers.

V54 | 3V6

5V6

5V6

26

26
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2)

gg(:]i't]feigl;gi to make the sums true: + — 6\{5
i + =| 82
i +|3V5 | =
V45 | |[V27 || V8
gg(z;i?:esbgl)‘gz to make the sums true: 3\/§ + \/ﬁ = 6\/_5 /
V2 [+ |8 =] 82
X X
o/ Nt
V75 |+ | V3 |=| 63
X+ Fabulous!>t @ 1+ 361 = [V




3)

Adding Surds

Drag the boxes to make the sums true: + =|6vV5
V80 | (V45 ||V45 + =[ov5
V32 |[V162] M55 | + =|8/5
V45 + =| 45
35 || V5 + | 5/2 | =
65
e nmmenennne V45 |+ [V35 | = [6V5]/
V45 |+ | 615 | = | 9V5
”;}@x} ~ [0+ %] = [8%5]/
@ @ W5 [+ | V5 |= 4\/33/
¥+ Fabulous!st w1+ [z ] = [Vie2




4)

Adding Surds

Drag the boxes to make the sums true: + = 7\(§
V80 + = [10V5
V3 |[rs V125 + =[oV5
6v5 || V80 + = [ev3
2V3 [ |N75 +[av3 ] =
V75 ||~243
gg%i?feigigi to make the sums true: \/—7_5 + 2\/-3_ - 7\/—5 /
6v5 |+ | V80 | = | 1045
X Xr
@ @ V125 | + [V/80 | = | 945
N N/ = + e = o
X Fabulous!x% V75 |+ | av3 | = \/243\/




5)

Complete these multiplication squares. Simplify your answers.

| &

9 | 8

36 43

62 8




6)

Multielying Surds

Dcacyte biues o waks the e e X =| V8
V4 X = [5V10
2V18 || V2 736 | % = [3y8
V64 | V125 X = [ 4420
V2 |[18V6]| V2 x [3v3 | =
V5
e smenesmsne | V2| % [ V& = [ VB,]/
V125 | X | V2 | =|5V10,
@ @ V64 | X | V5 | = [4y20
¥+ Fabulous!>t 7] x [3v3 | = [1ev6




7)
Pvec e b ks e i i X = | 36
6 V2 X = |2V10
V20 V36 | X = [3V12
S 2v21 X = [4V15
V48 18v9 x [3v3 | =
V3 V5
g e e e mosumswe. | V6| X [ B
V20 | X | V2
@'
©YOE.=
>+ Fabulous!>t vz x [375




8)

Multielying Surds

Drag the boxes to make the sums rue: X = | \30
V3 ||V45 || V3 % = [3v75
V6 |[3v48 \48 | X =| 49
V12 V3 X =|2V9
V5 X |42 | =
486
e e b ok the oma V5 | %
V3 | %
: ’*@* 2 @] x
© O =.
> Fabulous!x 2771




